ROIINO. ..o
MAEC-10 (M.A. Economics)

Second Year, Examination-2014
MAEC-06
Development of Indian Economy

( AR SreieaReT &t faentd)

Time Allowed : Three Hours

Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into
three (03) sections. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given
therein.

AT : Ig UIA-UA WIS (60) 3iehi o1 & I < (03) Gk
% fawmfsm 21 forenfd= = 3= @i o fau o
forga fadll & 3rTEW € wvl &l T O R
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Section - A / @S-
(Long Answer Type Questions)/( /" IWU a1 Wy )

Note : Section 'A' contains four (04) long-answer-type
questions of fifteen (15) marks each. Learners

are required to answer any two (02) questions
only. (2*15=30)

Az : W & H AR (04) e 37 T woa fEw e,
T U9 o forg uwge ofen Traifia & | forenfyia
N TTH  Heel S UPH oh ST A B |

1. What is Public distribution system (PDS) ? What is

its importanc

eI oo yomell § R 39/ © 2 9Rd S
forerTasiiel 291 & THe R TeE © 2

2. What is unemployment ? What are its causes and

in a developing country like India ?

kinds ? Suggest measures for its removal.

SUSAT 1 7 ? 39 SR IR &I FhR 41 €72
SRS FTehtor & 391 9arsy |

3. What is the role of MNCs in the economic
development of India ? Discuss recent controversy
over FDI in Retail sector of Indian Economy.

TEUST HAA S RA & oAt faska # &
affert € 2 IR sieforeeen & WRU &9 ¥ ye
foseht oW & T & foaR &t == wi |
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4. Define and explain 'Inclusive Growth'. How can it
be achieved in India ? Aslo mention obstacles on the

path of its attainment.

‘gHrEeTt TR’ T aftwTen iR sare HifT | 9Rd
7 grasht faewra =t $Q U fRar s gl ©, S9!
it & At o o arend § 2

Section - B / @8-9

(Short Answer Type Questions) ( &g 3T ATl UIT)

Note : Section 'B’' contains zight (08) short-answer-type
questions of five (05) marks each. Learners are
required to answer any four (04) questions
only. (4x5=20)

Az : WS @' H 23 (08) 7Y I e wA fem
T U9 & T uter ofe freifa & | forenfay
W 3TN W Haed =R Y9l & ST oA § |

1. Reasons for high COR in India.

IRA ¥ YS-Ic1g ST a1 B & HRO |

2. Poverty measures in India.
IRd | fHdaar & @ |
3. Inequitable sex-ratio of Indian population.

IR sl SEEA &1 fawm e srue
4, Components of Green Revolution.

g wifa & 9+
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5. Tax burden in India.
I o T TR

6. Fiscal Deficit of Indian Economy.
ARG 312 =geee & fowita =ren

7. Present trends of Indian Foreign Trade.
IRA & fodeit =R & i wgfaar

8. Industrial Policy of India.
TRA 1 steifen Hifa

Section - C / @8-H

(Objective Type Questions) / ( TS UIT)

Note : Section 'C' contains ten (10) objective-type
questions of one (01) mark each. All the questions
of this section are compulsory. (10x1=10)

Az : @S T H @ (10) TS WA fqw o
TS U & o ue ofw fruifm & 1 3w @T
& |t wg StfEmd ¥ |

1. Mention the contribution of agriculture in Gross
Domestic Product (GDP) of India.

(@) 10 percent (b) 17.4 percent
(¢) 25 percent (d) 33 percent
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Ra & e (F%a) e scRA (GDP) ¥ w&fy

T SR AT
(31) 10 Hfaer (&) 17.4 Hfeera
(|) 25 yfaerd () 33 wfaerd
2. Which of the following incidence is the name of

Dr. Verghese Kurien associated ?
(a) Green Revolution

(b)  Operation Flood

(c) Agricultural Reforms

(d) Blue Revolution.

frfafea 5 € fo9 se & Wy €. g HfEA

%1 A S ®
(31) =f@ i (9) AIRE RS
(|) &Y guw (%) et shifw
3. Which of the following indicators is not included

in human Development Index (HDI) ?
(a) Life expectancy (b) Consumption

(¢) Education (d) Per Capita income

frafafea o 9w Yot ama faem s
(HDI) ¥ wftafed &l @ -

(31) Sfad e () 399

(@) foem (%) ufa =afw e
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4. Which of the following exports fetches maximum
revenue to India ?

(a) Engineering Goods

(b)  Petrolium Products

(¢) Gems & Jewellery

(d) Textiles

frefafea fafal 4 fed o8 9 9a &1 Feitaes
T I gt ® 2

(1) SSifEi |S-EmEE

() Yaiferay e

(") T 3R qu

(2) =

5. Which of the states of India records most
inequitable sex ratio ?

(@) Delhi (b) Bihar
(c) Haryana (d) Guyrat

Id & fefafed = 5 @ fom v | fam
ST T e faum @ 2

(1) feeedl (&) fo=r

(9) B9 (%) Ted
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0. In which five year plan were the integrated Rural

DevelopmentProgrammes (IRDP) initiated ?

forq daedfa ae @ wwf=a aior fash wrfwa
(IRDP) 9rr T Tq 2

GO L (9) B A

(§) Hraal Fis (%) Al A

7. Which ofthe following Taxes is distributed between
centre and states in India :

(a) Stamp Duty (b) Estate Duty

(¢) Income Tax  (d) Tax on Agricultural Land

freferfed & § i o W 9Ra 9 % 3T &

S IC AR s [

() WM el (9) SRR L
() 3= () HfW 9fH W R

8. Presently food grains production in India is
approximately.

(@) 100 million tonne (b) 150 million tonne
(¢) 170 million tonne (d) 220 million tonne
IAH TH § qRd H ST 1 Scsd e @t
(1) 100 fAafermd =@ () 150 TAfeEd <A
(|) 170 fafeem =@ () 220 fafeRm =
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9. Which of the following states record maximum

literarcy Rate in India ?

(@) Kerala (b) Goa

(¢)  Uttarakhand (d) Maharashtra

Id ¥ fefafea 9 9 fe T &1 w@aia <
Taifers 7 |

(31) *HA () e

(§) SWEvs (%) HER

10.  Which of'the following nations is the biggest trading
partner of India ?

(a) Germany (b) UK
) USA (d) China

fohE 291 & WY YR 1 G S faeeh SR 22
(37) S

(¥) TS

(¥) G T5T SHREH

() =
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